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MISSION SSC CPO/CHSL & CGL
TlERﬁgnﬁg f the foIIo_wmg mtercha.nges in

mbers will make the given
equation correct?
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MISSION SSC CPO/CHSL & CGL

T|ERqE gdents P, Q, R, S and T are sitting on
a bench. Q is to the left of P and right of T. S is at

the extreme right end and R is to the immediate
Ieft of S. Who is sitting third from the left?
EAP, QR SIXTUHdTIRASEI Q, P =+
éSﬁT%SﬁTTohcua AL SHIGIMWFL UL
AT R, S & 31 a1 AL gl dTs AT H 1L T IT
Oh

T a7 872

K

P
.Q
R

o0 w>




MISSION SSC CPO/CHSL & CGL
TIER I'Sh?g(z scored 32, 45 and 49 marks in

nglish and Philosophy respectively.
The maximum marks in each subject is 50.
Determine his overall percentage for the three
subjects
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MISSION SSC CPO/CHSL & CGL
TIERHf 2DAI 33, 44*8= 26 and 86*14= 50, then

what will 43*15 be?
zr%52*14 33. 44*8= 26 31T 86*14= 50, Eﬁ43*15
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MISSION SSC CPO/CHSL & CGL
. ' er than ut notas old as D. E is
TIER Wof@gggs B. Who is the oldest of all?
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MISSION SSC CPO/CHSL & CGL

TlEﬁdir'ms A, B, P, Q and R were saluting on
INdEp Day in such a way that R was second

to the left of Q but to the immediate right of A.

There

was one plane between B and P. B was not at any of
the ends. P and Q were neighbours. Who was at the

left end?
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MISSION SSC CPO/CHSL & CGL
TIER ﬁ.? Mpany all Mondays and Sundays are
fs. nth starts with a Monday and has 31
days then how many offs will be there in that
month?
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MISSION SSC CPO/CHSL & CGL
TlERﬁ] % efore yesterday was Sunday, then

f the week will the sixth day from

today be?
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MISSION SSC CPO/CHSL & CGL
TIER I Szg?zgn and Manu went to a market. Rajan

erasers and 5 pens for Rs 105 and
Manu bought 4 erasers and 6 pens for Rs
130. What is the price of one eraser?
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MISSION SSC CPO/CHSL & CGL
TIER If m ad five SUbjeCtS In his final
n. The maximum marks in each
subject are 100. If his percentage in four subjects
Is 80, and he scores 65 marks in the fifth subject,

determine his overall percentage for the five
subjects.
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MISSION SSC CPO/CHSL & CGL
TIER I % mit's age is four times the age of

Babli's age is three times the age of
Priya. If the present age of Priya is 5 years,
what is the present age (in years) of Amit?
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TIEI% iﬁ 2anonth was 410C and the sum of the
temperatures of the first five days of the same month
was 2010C. What was the temperature on the sixth
day of the month?
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Bl MISSION SSC CROIGHSL & Gk
T|E \l 29231t1;1e|ghtts in a cIassIQP 's height is

more than only one student. Q's height is more
than S and P but not more than R. S's height is
more than P. R is not the smallest. WWho is having
the maximum height in the class?
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MISSION SSC CPO/CHSL & CGL
TIEI?;EI& Dare 45 trees in a row. The lemon tree

hfrom right end. What is the rank of lemon
tree from left end?
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MISSéiO SS%O Eo%lacblc-)lo§l5f ér‘mg%ﬁls_ 16th

1 r
TlERf clm %éi of row. A book of Mathematics is
12th from the right end. If the Mathematics book

Is 6th to the right of the English book, then how
many total books are in the row?
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